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QUESTION 1

Which three meet the requirement for SOA identity propagation? 

A. It translates between different identities. 

B. It requires the use of open standards for authentication. 

C. It handles services which each have their own identity registry. 

D. It handles identities which are coupled with application business logic. 

E. It provides a token that describes digital signature blocks within a message. 

F. It understands and operates with a variety of formats for representing identity. 

Correct Answer: ACF 

 

QUESTION 2

A company has implemented a number of business processes using SOA services. How do they 

determine if their new processes are helping the organization to achieve its business objectives? 

A. They establish a Center of Excellence (CoE) to monitor and report on the SOA services performance. 

B. They contact a third party to analyze and evaluate the new processes against the business objectives. 

C. They set and monitor Key Performance Indicators (KPIs) to track performance against the business objectives. 

D. They model the new processes in a business model simulator to identify bottlenecks and potential performance
issues. 

Correct Answer: C 

 

QUESTION 3

Which is an important decision for the adoption of SOA? 

A. Use Web services for all SOA communication. 

B. Use the latest open standard specification in the industry. 

C. Focus on a core set of systems when defining enterprise services. 

D. Encapsulate underlying technical differences between different SOA implementations. 

Correct Answer: D 
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QUESTION 4

What is a key difference between a component and a service? 

A. A service is deployed once and a component is deployed many times. 

B. A component is deployed once and a service is deployed many times. 

C. A component has an interface and a service implements the interface. 

D. A service has an interface and a component implements the interface. 

E. A service does not have a well-defined interface and a component does. 

Correct Answer: D 

 

QUESTION 5

Which aspects of SOA can reduce overlap and duplication? 

A. Modularity and encapsulation 

B. SOA governance and service reuse 

C. Service reuse and process modeling 

D. Loose-coupling and separation of concerns 

Correct Answer: B 
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